Prénom :…………………………

Date :…………………………………………

Calcul mental : Du+Du

Résous les calculs suivants en les décomposant.

	· 36+42= (…….+……..)+(…….+……..)=

· 42+27= (…….+……..)+(…….+……..)=

· 58+14= (…….+……..)+(…….+……..)=

· 38+38= (…….+……..)+(…….+……..)=

· 74+18= (…….+……..)+(…….+……..)=

· 65+35= (…….+……..)+(…….+……..)=

· 17+18= …….+……..)+(…….+……..)=

· 33+44= (…….+……..)+(…….+……..)=

· 49+49= (…….+……..)+(…….+……..)=

· 27+36= (…….+……..)+(…….+……..)=
	· 33+44= (…….+……..)+(…….+……..)=

· 49+49= (…….+……..)+(…….+……..)=

· 27+36= (…….+……..)+(…….+……..)=

· 74+26= (…….+……..)+(…….+……..)=

· 36+46= (…….+……..)+(…….+……..)=

· 33+44= (…….+……..)+(…….+……..)=

· 49+49= (…….+……..)+(…….+……..)=

· 27+36= (…….+……..)+(…….+……..)=

· 74+26= (…….+……..)+(…….+……..)=

· 36+46= (…….+……..)+(…….+……..)=
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